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Math 2170, Exam IIb, Spring 2006

1. Find the volume of the solid of revolution bounded by the graphs of 
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, y = 0, x = -3, and x = 5 and revolved around the x-axis, using any method you like.
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2. Find the volume of the solid of revolution bounded by the graphs of 
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, x = 1, x = 5, y = 0, and revolved around the y-axis, using the disk or washer method.
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you have to separate this problem into two pieces
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3. Find the volume of the solid of revolution bounded by the graphs of 
[image: image9.wmf](
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, x = 1, x = 5, y = 0, and revolved around the y-axis, using the shell method.
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4. Find the arc length of the graph of 
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 on the interval [1, 27].
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5. Find the area of the surface of revolution generated by the graph 
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 over the interval [0, 6] revlved around the x-axis.
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6. Find the work done in lifting a 2 ton satellite from the surface of the moon to a height of 50 miles.  The weight given is the weight of the satellite on the moon.  Assume that the radius of the moon is 1100 miles. (Gravity: F = C/x2)
C = 2.42 x 106
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Bonus:

Find the volume of a pyramid with a square base 15 feet by 15 feet, and with a height of 60 feet.
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